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a) log,32 = b) log,s5 =
c) Ingi = d) log, 16 =
e) logs5 = f) log,2 =
g) 10g3% = h) logg V2 =

ROAD x 7&RKDHK.

1
a) log,x =3 b) log,x = —3

c) logzx =2 d) logy,;x =3

log, M =r, log,N =s EB<EM =a", N=a*EXt8%, DT EEEECEAIAEFIBL TRD
BDHODORPDOMB = HE L.

M
a) log,(M x N) =log, M + log, N b) log, (F) = log, M —log, N

c) log, M" = nlog, M
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p=log,2 q=1log,3ET2LE, RDOER p, ¢ TKY.
a) log, 8 = b) log, 18 =

c) log, 12 = d) log, 1.5 =

RDERDAZSTEE L.

3 3
a) log, i log, 3 =

1 V5
b) E 10g3 5— 10g3 T =
c) log,(3+ v/5) +log,(3 = /5) =

d) 3logs15—logs 135 =

(6] ROBLDAAEBEICY L.

1 3
a) 3 log;o 125 + log; 3 log;( 0.3 =

A B c
b) log, & +log, ~ +log, — =

log,3=m DEE, log, 6, log;2 % m TxH.

a) log, 6 =

b) log;2 =

[E=TH<]
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a) log, b = b) log, b-logyc-log.a =1

logy, a

(9] By =log, x LDV TRDKRICH TIFE S x DEE I TEY. 12120, 295 = 1414 & T 3.

BIRSAFIAL T, 8B y = log,x DIS T AT




4DDBH y =3, y =3, y=logzx, y=—logyx DT> 7%

232 [FAMDEERA. 12720, log;2 = 0.3010 & T 3.

Y h, HBRIBOHSRA 1| WBEBTBTEID, %@%Jﬁ@%%é&itu’). ZDHSRAE[MLL
FERI-EDAEFBTDE, REHEED % LTFICEDBNED. 12120 log o3 = 0.4771 &F 5.
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